


JCT

JCT

IC




10 4
15 12

4,600 15,900

1

/

"

7

Bififim

he=9 =4 Yy ')'-' jf A
\_:"\‘ JJ\E%FH . < | = - y‘ "*\T_}/:j_
Y. (i R
tooscv ] mmangicL OFY ) =< [mwmar| -
Ir x% 7] -* &, ¥ A
L=0.5km %‘xz i et LEHEDEE
JCT O = -
L 7.3km I=I='Eﬁ!IC 4 W
IC JcT ) L \\
1A ﬂﬁlc u" Y 1] 3

£ A FEHT







4km

=22

FABFE/E - km

JLA
| 0 - 57 ABESE - km

[ 5 - 107 ABHEE - km
110 - 2077 ABSFE/5E - km

W0 -

=

=




40 68

141

-'1|...:_l.||.|.|r.l.|zr 1“ L

.

f

1-, o EE
J-L‘s

*1)

*2)

*1)H13
*2)

M v
| MR30SEIMmEEE
1 R3S O AT ' | i '
T E 0 5 ) B G ) {wit#t
.ﬁﬁauﬂﬂllﬂ
(SN - :

70%
50%

100%

75%




- 40

il A S

BEF
SR
mEiES
mfii
| B§
m J ¥F
W i i
O &l
m &N
115 ]
|O#dh







()

561 136 64 761
() 410 20 430
()

561 136 64 761
() 84 20 105

20




10
15
18

12
11
12

12

JCT
JCT

IC

IC
IC

29

IC

L 146km

IC

L 21.9km

IC
L=7.3km

L=2.9km

30

JCT IC




H10 H12 | H15 | H15 | H18 | H19 | H20 | H21 | H22
IC JCT 5 21 — 46 77 98
IC JCT 3) - 86 86 86

H21.2

10



11



